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MOMENTY I SIŁY BRZEGOWE 
PRĘT LEWOSTRONNIE UTWIERDZONY  

PRAWOSTRONNIE PODPARTY PRZEGUBOWO 
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16/3FLM ij −=

16/11FVij =
16/5FV ji −=

( ) 2/13 ξξ −−= FLM ij

( )( )12/13 +−= ξξFV ij

( ) 8//1 nnFLM ij −−=

( ) 8/4/15 −−= nnFVij

( ) 8/4/13 −+−= nnFV ji

( ) 8//5.0 nnFLM ij +−=

( ) 8//5.05 nnFVij +=
( ) 8//5.03 nnFV ji −−=

( ) 8/1 2ξξ −= FLMij

( ) 8/9 2ξξ −−= FVij

( ) 8/9 2ξξ −−= FV ji

( )2/331 2ξξ −+−= MMij

8/MM ij =

( ) 120/78 2
21 LqqMij +−=

( ) 40/916 21 LqqVij +=
( ) 40/114 21 LqqV ji +−=

8/2qLMij −=

8/5qLVij =
8/3qLV ji −=

15/2qLMij −=

5/2qLVij =
10/qLV ji −=

120/7 2qLMij −=
40/9qLVij =

40/11qLV ji −=

M2/MM ij =

LMVij /5.1−=
LMV ji /5.1−=

q

( )( )2/11 2ξξξ −+−= FVij

( )( )2/11 ξξξ −−−= FLM ij ( ) 2/32 ξξ −−= FV ji

( ) LMVij /8/9−=
( ) LMV ji /8/9−=

( ) LMVij /2/13 ξξ −⋅−=
( ) LMV ji /2/13 ξξ −⋅−=

( )( )12/13 −−= ξξFV ji
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( ) 8/2 222 ξξ −−= qLM ij

( )[ ]2/4/11 2 ξξξ −−= qLVij

( ) 2/2/13 ξξ −−= qLV ji

128/9 2qLM ij −=

128/57qLVij =
128/7qLV ji −=

( ) 8/2 222 ξξ −−= qLM ij

( ) 8/6 22 ξξ −= qLVij

( )[ ]8/61 2ξξξ −−−= qLV ji

128/7 2qLM ij −=

128/23qLVij =
128/41qLV ji −=

( ) 16/3 22 ξξ −−= qLM ij

( ) 16/11 2ξξ −= qLVij

( ) 16/5 2ξξ +−= qLV ji

( )[ ] 120/532022 ξξξ −−−= qLMij

( )[ ]40/52/1 2 ξξξ −−= qLVij

( ) 40/53 ξξ −−= qLV ji

( )[ ] 120/41534022 ξξξ −−−= qLMij

( )[ ]40/4152/1 2 ξξξ −−= qLVij

( ) 40/4153 ξξ −−= qLV ji

( ) 120/310 222 ξξ −−= qLM ij

( ) 40/10 22 ξξ −−= qLVij

( )[ ]40/102/1 2ξξξ −−−= qLV ji

( ) 30/35 222 ξξ −−= qLM ij

( ) 10/5 22 ξξ −−= qLVij

( )[ ]10/52/1 2ξξξ −−−= qLV ji

1720/53 2qLM ij −=

640/151qLVij =
640/9qLV ji −=

960/41 2qLM ij −=

320/67qLVij =
320/13qLV ji −=

960/17 2qLM ij −=

640/39qLVij =
640/121qLV ji −=

480/17 2qLM ij −=

160/19qLVij =
160/21qLV ji −=
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h

( ) httEIM gdTij /5.0 ∆−∆−= α

( ) ( )LhttEIV gdTij /5.0 ∆−∆= α
( ) ( )LhttEIV gdTji /5.0 ∆−∆= α

( ) httEIM gdTij /∆−∆−= α

( ) ( )LhttEIV gdTij /∆−∆= α
( ) ( )LhttEIV gdTji /∆−∆= α

( ) httEIM gdTij /5.1 ∆−∆−= α

( ) ( )LhttEIV gdTij /5.1 ∆−∆= α
( ) ( )LhttEIV gdTji /5.1 ∆−∆= α

LEIM ij /3 ψ−=

2/3 LEIVij ψ=

2/3 LEIV ji ψ=

LEIM iij /3 ϕ=

2/3 LEIV iij ϕ−=

2/3 LEIV iji ϕ−=

( )[ ] 8/21 22 ξξ −−−= qLM ij

( )[ ] 8/445 2 ξξξ −−−= qLVij

( )[ ] 8/248 2 ξξξ −+−−= qLV ji

( ) 8/222 ξξ −−= qLM ij

( )[ ]8/22/1 ξξ −+= qLVij

( )[ ]8/22/1 ξξξ −−−= qLV ji

( ) 8/3422 ξξ −−= qLM ij

( )[ ] 8/344 ξξξ −+−= qLVij

( )[ ] 8/344 ξξξ −−−= qLV ji

64/3 2qLM ij −=

64/19qLVij =
64/13qLV ji −=

64/5 2qLM ij −=

64/21qLVij =
64/11qLV ji −=
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( ) ϕξ ∆⋅−⋅−= 13
L
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( ) ϕξ ∆⋅−⋅= 13
2L

EI
Vij

( ) ϕξ ∆⋅−⋅= 13
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